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QUESTION 1

What SAP HANA information object does AFM create?
Please choose the correct answer.

Response:

A. Procedure

B. Attribute view

C. Table function

D. Calculation view

Correct Answer: A

QUESTION 2

What does the C in ACID-compliant stand for? Please choose the correct answer. Response:
A. Complexity

B. Constant

C. Complete

D. Consistency

Correct Answer: D

QUESTION 3

Which types of calculation views can you create? There are 2 correct answers to this question. Response:
A. Derived

B. Materialized

C. Standard

D. Time-based

Correct Answer: CD

QUESTION 4

Which of the following SAP data provisioning methods provide complex transformations? There are 2 correct answers to
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this question Response:

A. SAP Replication Server

B. SAP HANA smart data quality
C. SAP HANA smart data access

D. SAP Data Services

Correct Answer: BD

QUESTION 5
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Refactoring is used with which of the following actions? Please choose the correct answer. Response:

A. Translating

B. Documenting

C. Transporting

D. Improving your modeling design

Correct Answer: D

QUESTION 6

Which of the following are phases of an SAP rapid-deployment solution (RDS)?

A. Start

B. Blueprint
C. Deploy

D. Run

E. Realization

Correct Answer: ACD

QUESTION 7

What predicate do you use for fuzzy text search in the WHERE clause of a SQL statement? Please choose

the correct answer.
Response:

A. LIKE
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B. IN
C. ANY
D. CONTAINS

Correct Answer: D

QUESTION 8

What statement do you have to run before you can return table results from a procedure? Please choose
the correct answer.

Response:

A. CREATE VIEW

B. CREATE TABLE

C. CREATE TYPE

D. CREATE TABLE TYPE

Correct Answer: C

QUESTION 9

Which of the following steps is required for configuring SAP Landscape Transformation (SLT)?
A. Define the number of background work processes in SLT.

B. Define an RFC connection from SLT to SAP HANA.

C. Define a DB connection from SLT to the source system.

D. Define the number of jobs to be used for data replication.

Correct Answer: D

QUESTION 10

Which sentence best describes SAP HANA Live?
Please choose the correct answer.

Response:

A. Analytical reporting moving back to the OLAP system

B. Operational reporting moving back to the OLTP system
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C. Operational reporting moving back to the OLAP system
D. Analytical reporting moving back to the OLTP system

Correct Answer: B

QUESTION 11

Which of the following can you set up to enable the extraction of data from SAP Business Warehouse (BW) into SAP
HANA? (Choose three)

A. SAP System Landscape Directory (SLD)

B. SAP BusinessObjects Data Services

C. SAP Landscape Transformation (SLT)

D. Open hub

E. SAP HANA Direct Extractor Connection (DXC)

Correct Answer: BDE

QUESTION 12

Where can you reactivate a user after too many invalid logon attempts? (Choose two)
A. In the INVALID_CONNECT_ATTEMPS view

B. In the user-specific schema

C. In the user properties in the SAP HANA studio

D. In the SQL Console

Correct Answer: CD

QUESTION 13

The company\\'s board members want to run simulations on the year-end financial data. What do you use to
build this for them?

Please choose the correct answer.

Response:

A. A parent-child hierarchy

B. An expression
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C. A variable
D. A decision table

Correct Answer: D

QUESTION 14

What does SAP HANA smart data integration use for data provisioning?
A. SAP HANA smart data access

B. SAP HANA smart data streaming

C. Database triggers

D. Database logs

E. Real-time adapters

Correct Answer: ADE

QUESTION 15

What do you have to define in an attribute view to reduce the initial amount of data selected from the data foundation
tables?

A. A static filter value on any column in the data foundation tables
B. A column marked as "Hidden" in the output structure

C. Arestricted column in the output structure

D. A dynamic filter value on a measure in the attribute view

Correct Answer: A
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